Page 1 of 4

ENVIRONMENTAL RESOLUTIONS **SUMMARY OF BIDS**

2019 PUBLIC WORKS ON CALL CONTRACTOR FOR MISCELLANEOUS RECONSTRUCTION

TOWNSHIP OF MEDFORD

RUDI INCTON COUNTY NEW IERSEV

Bid Opening 08/01/2018 at 10:30 AM					BURLINGTON COUNTY, NEW JERSEY 25972 30			
					Engineer's Estimate	Coastlin	e Construction	
						PO Box 1554 Medford, NJ 08055 P:(609) 893-8600 F:(609) 893-2102		
NO	DESCRIPTION	QUANTITY	UNIT	UNIT PR.	AMOUNT	UNIT PR.	AMOUNT	
	CONTRACT YEAR 2019							
Miscellane	eous Concrete							
1	4" Concrete Sidewalk	16	SF	\$14.00	\$224.00	\$15.00	\$240.00	
2	6" Concrete Apron/Sidewalk	40	SF	\$22.00	\$880.00	\$25.00	\$1,000.00	
3	6"x8"x18" Concrete Curb	20	LF	\$55.00	\$1,100.00	\$50.00	\$1,000.00	
4	ADA Compliant Curb Ramp	1	Unit	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	
5	Concrete Gutter/Roadway (8" thick)	20	SF	\$25.00	\$500.00	\$25.00	\$500.00	
6	Concrete Roadway (8" thick)	20	SF	\$25.00	\$500.00	\$25.00	\$500.00	
Miscellane	eous Paving							
7	Milling, 2" Thick (<2,000 SY)	1,000	SY	\$6.00	\$6,000.00	\$6.00	\$6,000.00	
8	Milling, 2" Thick (>2,000 SY)	2,500	SY	\$8.00	\$20,000.00	\$6.00	\$15,000.00	
9	Milling, 6" Thick (<2,000 SY)	1,000	SY	\$9.00	\$9,000.00	\$8.00	\$8,000.00	
10	Milling, 6" Thick (>2,000 SY)	2,500	SY	\$11.00	\$27,500.00	\$8.00	\$20,000.00	
11	HMA 9.5M64 Surface Course, installed without Paver, Tamped or Rolled (<20 tons)	10	TN	\$200.00	\$2,000.00	\$175.00	\$1,750.00	
12	HMA 9.5M64 Surface Course, installed by Paver to include Tack Coat, Rolling of Asphalt (20 to 200 tons)	50	TN	\$180.00	\$9,000.00	\$160.00	\$8,000.00	
13	HMA 9.5M64 Surface Course, installed by Paver to include Tack Coat, Rolling of Asphalt (>200 tons)	250	TN	\$170.00	\$42,500.00	\$135.00	\$33,750.00	
14	HMA 19M64 Base Course, installed without Paver, Tamped or Rolled (<20 tons)	10	TN	\$200.00	\$2,000.00	\$160.00	\$1,600.00	
15	HMA 19M64 Base Course, installed by Paver to include Rolling of Asphalt (20 to 200 tons)	50	TN	\$180.00	\$9,000.00	\$160.00	\$8,000.00	
16	HMA 19M64 Base Course, installed by Paver to include Rolling of Asphalt (>200 tons)	250	TN	\$170.00	\$42,500.00	\$135.00	\$33,750.00	
17	Bituminous Cold Patch	10	TN	\$180.00	\$1,800.00	\$160.00	\$1,600.00	

ENVIRONMENTAL RESOLUTIONS SUMMARY OF BIDS

2019 PUBLIC WORKS ON CALL CONTRACTOR FOR MISCELLANEOUS RECONSTRUCTION

TOWNSHIP OF MEDFORD

BURLINGTON COUNTY, NEW JERSEY

Bid Opening 08/01/2018 at 10:30 AM					25972 30			
				Engineer's Estimate		Coastline Construction		
						PO Box 1554 Medford, NJ 08055 P:(609) 893-8600 F:(609) 893-2102		
Miscelland	eous Earthwork and Site Restoration							
18	Roadway Excavation, Unclassified includes General Excavation	20	CY	\$55.00	\$1,100.00	\$50.00	\$1,000.00	
19	Quarry Blend	10	CY	\$65.00	\$650.00	\$60.00	\$600.00	
20	Select Borrow (clean, organic free, granular material to be used for roadway subgrade and/or pipe trench backfill) NJDOT mixes I-2, I-5 (gravel), I-6, I-7, or I-8	10	CY	\$60.00	\$600.00	\$60.00	\$600.00	
21	Portland Cement Concrete Fill	5	CY	\$185.00	\$925.00	\$200.00	\$1,000.00	
22	Crushed Stone 3/8" to 1/2"	1	TN	\$75.00	\$75.00	\$65.00	\$65.00	
23	4" Topsoil and Sod	20	SY	\$30.00	\$600.00	\$25.00	\$500.00	
24	4" Topsoil and Seed	20	SY	\$12.00	\$240.00	\$10.00	\$200.00	
25	Remove Tree	1	Unit	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	
26	Plant Tree	1	Unit	\$475.00	\$475.00	\$500.00	\$500.00	
Storm and	Sanitary Sewer Structures							
27	Reset Type "B" Inlet Frame and Head	1	Unit	\$400.00	\$400.00	\$5,000.00	\$5,000.00	
28	Replace Inlet Head and Grate	1	Unit	\$200.00	\$200.00	\$3,000.00	\$3,000.00	
29	Cement Parging of Inlet Interior, 0'-6' deep	1	Unit	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	
30	Reconstruction of Existing Inlet, 0'-6' deep	1	Unit	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	
31	Construct Type "A" Inlet, 0'-6' Deep	1	Unit	\$3,800.00	\$3,800.00	\$4,000.00	\$4,000.00	
32	Construct Type "A" Inlet, 6'-10' Deep	1	Unit	\$5,500.00	\$5,500.00	\$6,000.00	\$6,000.00	
33	Construct Type "B"/"E" Inlet, 0'-6' Deep	1	Unit	\$450.00	\$450.00	\$4,000.00	\$4,000.00	
34	Construct Type "B"/"E" Inlet, 6'-10' Deep	1	Unit	\$600.00	\$600.00	\$6,000.00	\$6,000.00	
Miscelland	eous Storm Sewer							
35	Storm Sewer Point Repair, 0'-6' deep	1	LS	\$700.00	\$700.00	\$9,000.00	\$9,000.00	
36	Storm Sewer Point Repair, 6'-10' deep	1	LS	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	
37	Construct 12" RCP, 0'-6' deep	30	LF	\$175.00	\$5,250.00	\$200.00	\$6,000.00	

Page 3 of 4

ENVIRONMENTAL RESOLUTIONS SUMMARY OF BIDS

2019 PUBLIC WORKS ON CALL CONTRACTOR FOR MISCELLANEOUS RECONSTRUCTION

TOWNSHIP OF MEDFORD

BURLINGTON COUNTY, NEW JERSEY

25972 30

Bid Opening 08/01/2018 at 10:30 AM

Bid Opening 08/01/2018 at 10:30 AM					25972 30				
				Engineer's Estimate		Coastline Construction			
						Medfor	Box 1554 rd, NJ 08055		
						P:(609) 893-8600 F:(609) 893-2102			
38	Construct 12" RCP, 6'-10' deep	30	LF	\$200.00	\$6,000.00	\$200.00	\$6,000.00		
39	Construct 15" RCP, 0'-6' deep	30	LF	\$175.00	\$5,250.00	\$200.00	\$6,000.00		
40	Construct 15" RCP, 6'-10' deep	30	LF	\$210.00	\$6,300.00	\$200.00	\$6,000.00		
41	Construct 18" RCP, 0'-6' deep	30	LF	\$180.00	\$5,400.00	\$200.00	\$6,000.00		
42	Construct 18" RCP, 6'-10' deep	30	LF	\$215.00	\$6,450.00	\$200.00	\$6,000.00		
43	Construct 21" RCP, 0'-6' deep	30	LF	\$185.00	\$5,550.00	\$200.00	\$6,000.00		
44	Construct 21" RCP, 6'-10' deep	30	LF	\$220.00	\$6,600.00	\$200.00	\$6,000.00		
45	Construct 24" RCP, 0'-6' deep	30	LF	\$190.00	\$5,700.00	\$200.00	\$6,000.00		
46	Construct 24" RCP, 6'-10' deep	30	LF	\$225.00	\$6,750.00	\$200.00	\$6,000.00		
47	Construct 30" RCP, 0'-10' deep	30	LF	\$195.00	\$5,850.00	\$200.00	\$6,000.00		
48	Construct 36" RCP, 0'-10' deep	30	LF	\$230.00	\$6,900.00	\$200.00	\$6,000.00		
49	Construct 6" Perforated HDPE in Stone Trench, 0'-8' deep	30	LF	\$150.00	\$4,500.00	\$200.00	\$6,000.00		
50	Construct 12" HDPE Solid or Perforated in Stone Trench, 0'-8' deep	30	LF	\$145.00	\$4,350.00	\$200.00	\$6,000.00		
51	Construct 15" HDPE Solid or Perforated in Stone Trench, 0'-8' deep	30	LF	\$170.00	\$5,100.00	\$200.00	\$6,000.00		
52	Construct 18" HDPE Solid or Perforated in Stone Trench, 0'-8' deep	30	LF	\$175.00	\$5,250.00	\$200.00	\$6,000.00		
53	Construct 24" HDPE Solid or Perforated in Stone Trench, 0'-8' deep	30	LF	\$180.00	\$5,400.00	\$200.00	\$6,000.00		
54	Construct 30" HDPE Solid or Perforated in Stone Trench, 0'-8' deep	30	LF	\$200.00	\$6,000.00	\$200.00	\$6,000.00		
55	Construct 36" HDPE Solid or Perforated in Stone Trench, 0'-8' deep	30	LF	\$265.00	\$7,950.00	\$200.00	\$6,000.00		
56	Construct 12" DIP Storm Drain, 0'-8' deep	50	LF	\$200.00	\$10,000.00	\$250.00	\$12,500.00		

Page 4 of 4

ENVIRONMENTAL RESOLUTIONS **SUMMARY OF BIDS**

2019 PUBLIC WORKS ON CALL CONTRACTOR FOR MISCELLANEOUS RECONSTRUCTION

TOWNSHIP OF MEDFORD

BURLINGTON COUNTY, NEW JERSEY

	Bid Opening 08/01/2018 at 10:30 AM		25972 30				
				Engineer's Estimate		Coastline Construction	
						Box 1554 rd, NJ 08055 9) 893-8600 9) 893-2102	
Unclassifi							
57	Backhoe Rental including all Mobilization, Demolition, Operator, Fuel, etc.	1 Day	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	
58	7 Ton Trackhoe Rental with or without Concrete Hammer including all Mobilization, Demobilization, Operator, Fuel, etc.	1 Day	\$2,250.00	\$2,250.00	\$2,000.00	\$2,000.00	
59	25 Ton Trackhoe Rental including all Mobilization, Demobilization, Operator, Fuel, etc.	1 Day	\$3,250.00	\$3,250.00	\$3,000.00	\$3,000.00	
60	2 Yard Loader Rental including all Mobilization, Demobilization, Operator, Fuel, etc.	1 Day	\$2,250.00	\$2,250.00	\$2,000.00	\$2,000.00	
61	3 Yard Loader Rental including all Mobilization, Demobilization, Operator, Fuel, etc.	1 Day	\$3,250.00	\$3,250.00	\$3,500.00	\$3,500.00	
62	Bulldozer Rental including all Mobilization, Demobilization, Operator, Fuel, etc.	1 Day	\$3,250.00	\$3,250.00	\$3,000.00	\$3,000.00	
63	10-Wheel Dump Truck Rental including Operator, Fuel, & Unlimited Mileage	1 Day	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	
64	6-Wheel Dump Truck Rental including Operator, Fuel, & Unlimited Mileage	1 Day	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	
65	Utility Tools with 2 Laborers. Truck to inculde Miscellaneous Laborer Tools, Rakes, Shovels, etc.	1 Day	\$4,500.00	\$4,500.00	\$4,800.00	\$4,800.00	
	TOTAL PRICE- BASE BID		\$357,819.00		\$358,155.00		